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Basis for Bayesian Approach
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12/40 = 0.30

P(D|modell) =

P(D|model2) = 10/40=0.25
P(D|model3) = 8/40=0.20
P(D|modeld) = 10/40=0.25

T ETILAEZONT-IKEET
T—ANEAESNSLELLE.

P(D) = P(D|modell)P(modell)
+P(D|model2) P(modell)
+P(D|model3) P(model 1)
+P(D|modeld) P(modell)

= 0.25
1 ETFIILEHELEMESIZZTOT
—ANER SN HHER

P(modell|D) — P(D|mod;fg;)l;’(modell)
= 0.30 P(modell|D): E& 7%
P(model2|D) = 0.25 P(D|modell) L EE B ER
_ 7T
P(model3|D) = 0.20 P(modell) J_ﬁmﬁﬁj
P(modeldD) = 0.20 poy
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Baysian Estimation
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natural conjugate prior distribution
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noninformative prior distribution
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hierarchical prior distribution
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Fertility Agriculture Examination Education Catholic Infant.Mortality
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# SWi sST—ADFAAH

dat a( swi ss)

sunmmar y(swi ss)

# | n( BGBALER-HALY, data=T—5%R)
# . [IZEDMDT—HEERTHLEEERT S
summary(l m(Fertility~., data=sw ss))

MR, olcFEBLI-ETE

k<- ncol (sw ss)

y<-sw ss[, 1]

X<-cbind(1,as. matrix(swi ss[,2:k]))
n<- nr ow X)

k<-ncol ( X)

# BOFRIEER

# solve() [FHTHEHETS

bet ahat <- solve(t(X)% % X)) % % ( X) % %
bet ahat

# 02T RIEEE

S2=t (y- X% %bet ahat ) 9% % y- X% %bet ahat )

si g2hat <- S2/(n-k)

si g2hat

# BORRABL

di ag(as. real (sig2hat)*sol ve(t (X) % %))

1(B3,0%y, X) = — — Xp{—% iZI(%' — B0 — Bimin — -+ — BnTin)?}
4 1 . K N\
18, 0%y, X) = = —— exp{—5 5y — X0)" [y - XB)
1
—5,3(B =) (X1 X) (8-}
. J
L CNIEoN2 BT B <
ria,b) = F’{;) (%)~ exp{—b(0®)~1}

o (0%)""Fexp{—b(a*) "'}

Blo?, X
o?|X

~ N(B,02M™) MI%k*k D IE 5 {8 31 % 4751
' JGITFAH <%
~ JG(a,b).a>0,b>0 i
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Call:
Im(formula = Fertility ~ ., data = swiss)

Residuals:
Min 1Q Median 3Q Max
-15.2743 -5.2617 0.5032 4.1198 15.3213

Coefficients:

Estimate Std. Error t value Pr(>|t|)
(Intercept) 66.91518 10.70604 6.250 1.91e-07 ***
Agriculture  -0.17211 0.07030 -2.448 0.01873 *
Examination  -0.25801 0.25388 -1.016 0.31546
Education -0.87094 0.18303 -4.758 2.43e-05 ***
Catholic 0.10412 0.03526 2.953 0.00519 **
Infant.Mortality 1.07705 0.38172 2.822 0.00734 **

Signif. codes: 0 **** 0.001 **" 0.01 *" 0.05‘’0.1‘"1

Residual standard error: 7.165 on 41 degrees of freedom
Multiple R-squared: 0.7067, Adjusted R-squared: 0.671

F-statistic: 19.76 on 5 and 41 DF, p-value: 5.594e-10
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B(H™ REVEH), o (EH L < EIE) DBk T B0 X ~ N(GotM
B R BB DE SN HEEL, HEETS. % o Toleas 050

B - [ZDWTIXFEERAELDT
e d ig(qu)#### /61 M: a, b Y (ZERE.

a<- 2.1
b <- 2
c <- 0.1

Me( 1/ c) *di ag( k)

T=sol ve(sol ve(M +sol ve(t (X) % %X))

# BDEERTY

bet avar <- sol ve( Mt ( X) 9% 9X) % % ( X) 9% Uy

bet avar

# oh2MDFHRFY

S2=t (y- X9% %bet ahat ) % % y- X% Y%bet ahat)

S2var <- (2*b+S2+t (bet ahat) % %d% %bet ahat ) / (n+2* a-

SDar — EAERAOKEEINEL.
# BDHERIE
betasig <-

di ag(as. real (2*b+S2+t (bet ahat ) % %% %bet ahat ) / (n+2
*a- 2) *sol ve( Mtt ( X) 9% %X) )
bet asi g
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BMIEZEIRETILDINS

* FACHEEIFETILEER.

Hin# 2. AEN #HH#

ndraw <- 1000 # #YURLEEE%K

# TOERAMEHRZEE

tauval <- rgamma(ndraw, (n-k)/2, (n-k)*sig2hat/ 2)
bval <- matri x(0, nrow=ndr aw, ncol =k)

# ZEEERSFHOBEE v nor nEFE537=0547 3 MASSEREUH T

I|brary(N%SS)

for(i in 1:ndraw){

V <- (1/tauval [i])*solve(t(X) % % X))

bval [i,] <-nvrnorn(1, betahat, V)}

# INDA—ADFERTY - D REREEHE
bval . rean <- matri x(0, nrow=k, ncol =1)

for(i in 1:k){bval.mean[i,] <- nean(bval[,i])}
bval . mean

bval . var <- matri x(0, nrow=k, ncol =1)

for(i in 1:k){bval.var[i,] <- var(bval[,i])}
bval . var

bval . sd<-sqrt (bval . var)
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15 T RE 97.5% 2.5%
=g
i 67.2 1.29E+02 88.829 45.586 TR |4/ XS AR B TH BT LA,
=E5 -0.172 5.32E-03 -0.030 -0.314 THEAIEESL MO ML
SHTEREMNMEL. R/IDNZFERICBITEH/INTAZHTE
A -0.246 6.68E-02 0.266 -0.759 ERTILENS%KEIELTE ST .
HE -0.883 3.26E-02 -0.513 -1.252
VAN 0.105 1.19E-03 0.177 0.034
SHIBFET K 1.059 1.52E-01 1.83 0.288
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Markov Chain Monte Carlo method
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TI)LOTEFHIZ DT

W HEF5 7 2= (transition probability)

P(Xt_|_1) c A|IE1, st ,CEt) — P(Xt_|_1 c A|$t)
= P(Xeqa|ze) P(Xelze—1) -+ P(Xa|z1) P(z1)
W H#EF2#% (transition kernel)

K Xt+1 = y|Xt+1 = iI?) T,y € A

(z,9)
fK:l:y

HERIIEIFRET L (RILOTEHD R FKRG)
Lt41 = PIt —+ €t4145EL4+1 7 l]l-dN(O, 1),t — 0, ].j Tt ,T

1
K(ztt1,7:) = T eXp{_Q(mHl — pzt)*}
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L OTEE D A ET B 5 — A E

BXIX-HUT5—0OF7 NIV L

1.FO—E#%EsET 5. s=(0,...,ndraw)
2.5=0I=x LT, RIHEZRDS. s

_ s s
3XCHSXHEERKT B, X = (mlz Tt ::E{,)
$§+1 ~ p($1|$§1 1"1"5)
it o~z as e 2))

4.s<ndraw® &=, 31253, s=ndrawDEFEHER T
I'E—H ~ p($t|$f+l!"' xij—ll)

# FHAE( 10, 10) DIHFE

T<-500; ro<-0.7; y0<-10; nul<-mu2<-0; sigl<-sig2<-1
yl <- rep(y0,T); y2<-rep(y0,T)

for(i in 2:T){

y2[i] <- rnorm(1l, (mu2+ro*sig2/sigl*(yl[i-1]-mul)), sqrt(sig2*(1l-ro"2)))
y1[i] <- rnorm(1l, (rmul+ro*sigl/sig2*(y2[i-1]-mul)), sqgrt(sigl*(1l-ro”"2)))}

# tHEAME(- 10, 10) DIFAE

T<-500; ro<-0.7; y00<--10; mul<-nmu2<-0; sigl<-sig2<-1
y3 <- rep(y0,n); y4<-rep(yO00, n)

for(i in 2:TM{

ya4[i] <- rnorm(1l, (mu2+ro*sig2/sigl*(y3[i-1]-nmul)), sqgrt(sig2*(1l-ro"2)))
y3[i] <- rnorm(1l, (nul+ro*sigl/sig2*(y4[i-1]-nmul)), sqrt(sigl*(1-ro™2)))}

# 3.3

par (nfrow=c(1, 2))

pl ot (y1,y2, type="0", xlimc(-10, 10), yli mec(-10, 10))
pl ot (y3, y4, type="0", xl i mec(- 10, 10), yl i m=c(-10, 10))
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ndraw
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Gelman-Rubinffist = gelman.diag() =) £?$1§%§T;J€Ti§§;&7w
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l'U'/?)le RZDLT

B ERE2 DMNLET JLZMCMCIZ &Y, burnin1000[E . FE—10000[=]
SREAZE R, . EU  [CTHEEZTBRETREISTI .

Iterations = 1001:11000
Thinning interval =

Number of chains = 1

Sample size per chain = 10000

1. Empirical mean and standard deviation for each variable,
plus standard error of the mean:

Mean SD Naive SE Time-series SE
gend 0.45403 0.2286 0.002286 0.006974
age -0.13106 0.0886 0.000886 0.003121
budget -0.06319 0.0921 0.000921 0.002944

2. Quantiles for each variable:

25% 25%  50% 75% 97.5%
gend 0.002459 0.3033 0.45453 0.6001149 0.91065
age -0.306707 -0.1906 -0.13053 -0.0736864 0.04396
budget -0.243822 -0.1260 -0.06335 0.0005509 0.11695
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